SJ BROADCASTING, LLC 2702 BOULDER RD. URBANA, IL 61802

Order #:

3928-00002

Description:

WSJK POLITICAL MAR APR 19 ORDER

Date Entered:

3/8/2019

P.O.#:

Salesperson: LASKOWSKI, JOSH

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

FRIENDS OF MATTHEW GLADNEY Attn: MATTHEW GLADNEY 1003 W JOHN ST CHAMPAIGN, IL 61821

Statement Group:

SJ BROADCASTING, LLC

Receivables Group: Sales Commission:

Political Local AE 15% Collections

A/R Account:

Cash - WSJK-FM

Order Discount: Agency Discount:

<None>

Default Primary Product Code: Political Secondary Product Code:

<unassigned>

Last Modified: 3/8/2019

Modified 1 times

OrderType:

Per Spot

<None>

On-Air Schedule

	OII-AII OUI	icuaic																
	Start Date	End Date	Station	Schedule	d Time/E	vent	Repeated	Length	Oty	Rate	<u>Total</u>	M	<u>Tu</u>	W	Th	F	<u>Sa</u>	<u>Su</u>
1	3/11/2019	4/2/2019	WSJK-FM	06:00:00	to 10:	00:00	CUSTOM	1:00	24	13.50	324.00	Υ	Υ	Υ	Υ	Υ	N	N
	Avait Inc. Acct: Spot Type:	Regular CM Political Local Regular CM			s Comm: Sep: X	X	Agency Discou Prod Sep: X	nt		r Discount: ty: 255	Pro	d: Po	litical					
		lan: 3928-0000 y Name		art 9	% / Iter	Station	Start	End		Соор	Prod	luct		Cart	Туре	, ,	Restr	ictions
		A/FRIENDS C	F MATTHE 6	830A	1 %	WSJK-F	M 3/11/201	9 4/2/2019			Polit	ical		Con	nmerc	ial	<	None>
	3/11/201			300/1		******			10	13.50	135.00	2	2	2	2	2	0	0
	3/25/201	9 3/31/2	019						10	13.50	135.00	2	2	2	2	2	0	o
	4/1/201	9 4/2/2	019						4	13.50	54.00	2	2	0	0	0	0	0
:	3/11/2019	4/2/2019	WSJK-FM	06:00:00	to 19:	00:00	CUSTOM	1:00	36	15.00	540.00	Y	Υ	Υ	Υ	Υ	N	N
	Avait Inc. Acct: Spot Type:	Regular CM Political Loca : Regular CM			s Comm: Sep: X	Х	Agency Discou Prod Sep: X	int		r Discount: ity: 255	Pro	d: Po	olitical					
		lan: 3928-000					. .	 .		_	_			_				
	< All Date	y Name		art ^c	% / Iter	Station	Start	End		Соор	Proc	duct		Carl	t Type	<u></u>	Restr	rictions
		DA/FRIENDS C	F MATTHE 6	830A	1 %	WSJK-I	FM 3/11/201	9 4/2/2019)		Polit	tical		Con	nmero	cial	<	None>
	3/11/201	9 3/17/2	019						15	15.00	225.00	3	3	3	3	3	0	; 0
	3/25/201	9 3/31/2	019						15	15.00	225.00	3	3	3	3	3	0	0

Station Totals:

Station

Spot Count

Net Billing

WSJK-FM

\$864.00

Order Start Date: 3/11/2019

Printed: 3/8/2019 At 11:09:59AM

Order End Date: 4/2/2019

Spots: 60

Total Charges:

\$864.00

Projected Calendar Month/End-Of-Schedule Billing	Tota	ls fo	or FRIENDS OF MATTHEW GLADNEY / 3928-00002 :	
			N. Dilli	

Spot Count Net Billing March 2019 \$720.00 50 April 2019 10 \$144.00 60 Total: \$864.00

	JANUARY			34										LNE			NO IEU		L 00100.8	NESPN	Traffi
	FEBRUARY	ship.	Ne.		1	12	7		外でス		,	1/2	2/1/	START						O	Traffic Order Form
	MARCH					47	1/2		0,0	525		W. N.	7/1/2	DATES					<u>ا</u> هن	CHRISTIAN	er Forn
	APRIL				7	5-5	573			0	,			`v;						- -	3
	MAY					5	-			T.				DAYPAKT START					C CANCEL	II SU	DATE
	JUNE				esta esta esta esta esta esta esta esta	70	101			E		T.		END SE					D TO	NEW ORDER SUPERSEDES PREVIOUS	
	JULY				4	U 0	P		J.			W N	2	≤ .	_					EVIOUS	
	AUGUST			τ			<u> </u>	1	<i>(</i> 0,			w	<i>Φ</i>	T W					POLITICAL	D DIRECT LOCAL D AGENCY	A Commence of the Commence of
	SEPTEMBER					- 1		¥,	7	о 0)		N N	<i>ф</i>	BRUADCASI PALIERN					CAL	TLOCAL	
	OCTOBER										-,4*			s s					D EXTEND COPY	CASH CASH	j
	NOVEMBER				(M)	7 - 1	4	*	ñ	Ö	Ţ	12	10	# SPOTS					EXTEND COPY	DE %H	
	DECEMBER				r	755	9		00	0		93)	00	LENGTH							
	CONTRACT TOTAL					A Transport	IN PA, PA	2000	万 入	ň	ì	7	10, U	RATE	SALESPERSON	AGENCY		PHONE #	CONT	ADDRESS CITY/STATE/ZIP	ADVERTISER
			# OF BROADCASTS							Ŏ			0	•	SON	NCY	FAX#	NE #	CONTACT ///	a commence of the commence of	annin amening
A			RATE											EXTRA COMMENT						N Franching W	2 of Charles
			TOTAL																To receive the second s	TL 08	Martillus 1
	***************************************													-	'	*	•	,	,	10	t .

SJ BROADCASTING, LLC 2702 BOULDER RD. URBANA, IL 61802

Order #:

3928-00003

3/8/2019

Description:

WQQB POLITICAL MAR APR 19 ORDER

Date Entered:

P.O.#:

Salesperson:

LASKOWSKI, JOSH

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

FRIENDS OF MATTHEW GLADNEY Attn: MATTHEW GLADNEY

1003 W JOHN ST

CHAMPAIGN, IL 61821

Statement Group:

SJ BROADCASTING, LLC

Receivables Group: Sales Commission:

AE 15% Collections

Political Local

A/R Account:

Cash - WQQB-FM

Order Discount:

<None>

Agency Discount: <None>

Default Primary Product Code: Political

Secondary Product Code:

<unassigned>

Last Modified: 3/8/2019

Modified 1 times

OrderType:

Per Spot

On-Air Schedule

Sta	rt Date	End Date	Station	5	Scheduled	Time/E	vent	Re	peated	Length	<u>Oty</u>	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	$\underline{\mathbf{W}}$	<u>Th</u>	<u>F</u>	<u>Sa</u>	<u>Su</u>	
1 3	3/11/2019	4/2/2019	WQQB-FN	n (06:00:00	to 10:0	00:00	CU	ISTOM	1:00	24	16.00	384.00	Υ	Υ	Υ	Y	Y	N	N	
li	Avail: nc. Acct: Spot Type:	Regular CM Political Local Regular CM		Descrip	Adv.	Comm: Sep: X	X		cy Discoun Sep: X	t		Discount: by: 255	Proc	i: Po	litical						
		lan: 3928-0000	2				.			. .						~			.		
		y Name		Cart	%	/ Iter	Station		Start	End		Соор	Prod	JCI		Сап	Туре		Restr	ictions	
	< All Date	es >																			
	1 6830	AVFRIENDS O	F MATTHE	6830A		1 %	WQQB-	FM	3/11/2019	4/2/2019			Politi	cal		Con	nmerc	ial	<	None>	
	3/11/201	9 3/17/20)19								10	16.00	160.00	2	2	2	2	2	0	0	
	3/25/201	9 3/31/20	019								10	16.00	160.00	2	2	2	2	2	0	0	
	4/1/201	9 4/2/20	019								4	16.00	64.00	2	2	0	0	0	0	0	

Station Totals:

Station WQQB-FM Spot Count

Net Billing

Order Start Date: 3/11/2019

\$384.00 Order End Date: 4/2/2019

Spots: 24

Total Charges:

\$384.00

Projected Calendar Month/End-Of-Schedule Billing Totals for FRIENDS OF MATTHEW GLADNEY / 3928-00003:

 April Total:	2019	24	\$64.00 \$384.00	
March	2019	20	\$320.00	
		<u>Spot Count</u>	<u>Net Billing</u>	

Confirmed & Accepted for SJ BROADCASTING, LLC By:

Accepted for FRIENDS OF MATTHEW GLADNEY By:

Please Sign and Return One Copy

JANUARY							LINE	Traffic L SPN L US105.9	
FEBRUARY						5	START	<u> </u>	
MARCH			7			Z Z	DATES	CHRISTIAN	
APRIL				2+0		100		_	
МАҮ				10/14			DAYPART	DATE DATE	
JUNE					,		PART	DATE Q-NEW ORDER D SUPERSEDES PREVIOUS D ADD TO CANCEL	
JULY			2	9		D)	Z	EEVIOUS 6	
AUGUST			1			う ろ ろ	BROAD(DIRECT LC AGENCY NATIONAL POLITICAL	
SEPTEMBER				Q.) ()	<i>w</i>	BROADCAST PATTERN W T F	DIRECT LOCAL DIRECT LOCAL NATIONAL POLITICAL	
R OCTOBER						,	S S	D CASH D TRADE D EXTENT	
NOVEMBER			an action		7	~	# SPOTS WEEK	CASH TRADE TRADE EXTEND COPY	
DECEMBER			3			8	LENGTH		
CONTRACT TOTAL			And the second s		>	J.	RATE	ADVERTISER ADDRESS CITY/STATE/ZIP CONTACT PHONE # FAX # AGENCY SALESPERSON	
		# OF BROADCASTS							
		RATE					EXTRA COMMENT		e a
	子 ジ シ い	TOTAL DU							

WSJK-FM / WGKC-FM / WJEK-FM / WQQB-FM

ACKNOWLEDGEMENT OF POLITICAL ADVERTISING POLICIES

This will acknowledge receipt of the Political Advertising Disclosure Statement from our Station. I agree that all purchases of advertising time on the Station made by or on behalf of legally qualified political candidates for public office will be made subject to this Acknowledgement and the Political Advertising Disclosure Statement.

I acknowledge that I have been fully informed concerning all classes of time including paid political programming which are available to advertisers; the station's lowest unit charge for each class of time; and the station's policy with respect to make goods.

I recognize that the Federal Communications Commission ("FCC") has asserted its exclusive jurisdiction under the Communications Act of 1934 as amended with respect to all disputes concerning purchases of advertising time, specifically including all disputes concerning charges for candidates' "uses" of a station's facilities.

I acknowledge that all such disputes will therefore be governed exclusively by the Communications Act and the rules and policies of the FCC, and must be resolved exclusively before the FCC, subject to such judicial review as is provided for by the Communications Act.

Date: 3/6/19 Eriends of Matthew Chidney
Advertiser

Candidate/Agency: Matthew Gladhey

Address: 1003 W. John H.

Champillan, TL

BCRA POLITICAL RECORD

This Political Record is required by the Bipartisan Campaign Reform Act of 2002 (BCRA) to be completed every time a request is made to purchase broadcast time that (1) is made by or on behalf of a legally qualified candidate for public office, or (2) communicates a message relating to any political matter of national importance, including a legally qualified candidate, any election to federal office, or a national legislative issue of public importance. The Political Record is not required for requests to purchase internet advertising. Once completed, the Political Record must be placed in the station's local public inspection file and must be retained for two years.

This Record is for	□ a candidate request □ an election message request * □ an issue request *	The request was	□ accepted # □ rejected
	m an each inducati	Matthew	CIL
Candidate Named	in Message:	1 4 (01/4/16/0)	Gladney
Office Being Sough	nt;	City Council	Member At-Large
Election or Issue Re	eferred to:	2019 Municipa	1 Election
Sponsor (or author	rized candidate committee):	Friends of M	atthew Gludbey
Treasurer of autho	rized candidate committee:	Anley Re	odman .
Person Ordering A	dvertising:	Morther	Gladney
			(

* An "election message request" is a request made by anyone to broadcast a message that refers either to a legally qualified candidate or to any election to federal office.

An "issue request" is a message related to a national legislative issue of public importance or a political matter of national importance,

If the request is accepted, attach the sales order showing the rate charged, the date(s) and time(s) the message is aired, and the class of time purchased. For an <u>issue request</u>, also attach the name, address, and phone number of a contact person, and a list of the chief executive officers or mem bers of the executive committee or of the board of directors of the sponsor.



2702 Boulder Rd. Urbana, IL 61802 T (217) 367-1195 • F (217) 367-3291

WQQB | WGKC | WSJK | WJEK

CREDIT CARD TRANSACTION FORM

Business Name Friends of Motthew Gladher Today's Date 3/6/19
Sales Representative Johna Ld) KowKi
Type of Card MC VISA DISCOVER AMEX
Name on card (if different) Friends of Mutther Gluby / Mutther Gluby
Billing Address 1003 W. John H.
Billing City Champaigh ST IL Zip 61821
Client E-mail (to email digital credit card receipt) Matthew gladhay cham paign & gmail. com
Card Number (write legibly)
Expiration Date (mm/yy) 57/2 CVV#
TOTAL amount to charge How Often/When? (if applicable)
Apply payment to invoices(s)
Instructions (if any)
CLIENT SIGNATURE // ABJUM

EMAIL: accounting@sjbroadcasting.com

FAX (217) 367-3291









www.espncu.com

www.wgkc.net